10

11

12

13

14

15

F720 BERERPFREFRRE F—F AR

o >

f R W O K ® W o

B>

i

N

16 K

17 X

18

19

20

21

22

23

24

25

26

21

28

29

30

31

32

\3
’

T O B OB o dh 2B ¥ @ W

SM3E7A27H (k) ~29H (K)
B IREIKIE
E EMY—REkiE

&t RIKIG
FERBFHRS
w (18)
2 W (2)
E (15)
W (9)
£ w (2)
& R 4 (12)
A (21)
% | (2)
a R’ (3)
- E (16)
K (7)
¥ (5)
B (8)
® & (6)
=% (M)
g (19)
B (9)
£ (15)
T (7)
/| (4)
W P R (19)
£ (23)
& (6)
B (12)
B (10)
E (14)
B8 (10)
n K (#9)
E (9)
B | (19)
g (12)
fb (2)

(

(

B R

n

“—
c

F oo

i3
> O & #&# =R

m )
)

)

i

- B k)

W M H W W m X O m B
At o

=

3 kB 8 RE0gH<H S 91 O ot

AMKE (GHEER)

C BRINTHRB  Loxe (rEm) } FRERRS
278 (X | 288 () | 298 (k)
EFED 4
9:00~ 6

. CcED 7 (6@3-I)
9:00~ 0
EFQ | 4
10:40~ 3
CiE®Q 12 (5@3-M")
13:00~ 5
ET® | 7
12:20~ 6
CiE®Q 7
10:50~ [ 6 (8@%7° V-9
E¥® | 3x
14:00~ 2
EX® || 3
9:00~ 2
D 7@ 2
9:00~ 5
B 4
9:00~ 3
D 7@ | 1
10:40~ 0
BiA® 3
13:00~ 5
D #® | 3
12:20~ 1
BiA®@ 3
10:50~ 0
D 7@ 4
14:00~ [11 (5@3-M)
' EEQ®
11:30~
CiE®D 0
9:00~ 5
EF®D 7
9:00~ 2
cE2 | 7
10:40~ 3
EFQ® 2
13:00~ 0
T Cc®® | 9 (6@3-M)
12:20~ 0
EF@ 2
10:50~ 1
CiE® 0
14:00~ 4
' ATD | 3
9:00~ 0
B#®D 0
9:00~ i
LY:-6)) 10
9:00~ 5
T B®B@ |12
10:40~ 3
DEQ® 4
13:00~ 0
BiA® 0
12:20~ 2
D@ 0
10:50~ 9 (6@3-I)
BiA@ 0
14:00~ 1




F720 BEEERFRKBESABEA= [(2HE]
7H28A HEiEHE| 2EE [SEF0Y— R BRIS ] 9:00 ~ 11:05
2 1 3145|167 . 10| 11|12 | &t BF EES
’ RS P9E
= v[7 N
= FE 51110(01010 - [ .
| = =
— L—%jj— /ﬁjﬁj
Al 7
Y AN 0(110(0(1010 2 -
K —£47 K* =847 * AT * ET
BT HATE =g EF A T EEE
7L 720 N EZEE NI
728 F2:4| 2o (SEF0)— 2Bk iS ) 11:35 ~ 13:19
2 1 314|567 . 10| 11|12 | &t F 3
= =T [Eic):)
| Bk =ha
Jl 5 i
1P 010|001 [1x ? ot =
* 8237 K* =547 * AT * 2=
ETE NRPR | EFE BFE JIIAHR e —2|-2(=2
T O -Hk B A MED| e | s e 2 H
- N
Jricpz:] tE
TH28H  $3R o |4 R (SEF0)— 2Bk ) 14:06 ~ 15:50
2134|567 . 10 11|12 |5t RF S
1 kB LE [BLLE
JI ]
s 01010101010 $ 0 EKEL (B L
| e
] F9H
= z[0]0]0|2]0]0]|x]>? 2 i
2
K —£47 K* =847 * AT *
JIIHRZR E¥F JIARR JIIRHR I RE|—2(-8|=
fes 1Ly rEYE T | FM| K8 | S5




7200 ERESEFFRMEFRBEAS [2HH]

7288 FiERAES| 2EE CIEIhiEizse>)! 8:68 ~ 10:32
1121345617 . 819 (10| 11|12 |5t ¥F ES
o TRE &
£ E010)0101010] 17| sammicsn [V |mrzmms
| 6E|a— /LK R
szl 1 10]0lal1]| |2 7 :
* 8T K =25T K AEIT * B
EE mol | EE woh | EE ] mE ===t
L =g asRlrid] L INTE 7= DT N
7L
I\
78288 oata cme IRk 11:03 ~ 13:35
1121345617 . 819 (10| 11|12 |5t B2F ES
1 = %
Z A 1111010701110 - 3 6 S
|
L RE
» ,
A% 11010(210]01(0 4 % [ PRI,
* Z 8T *=81T K AEIT *EH
25 =EqIT 2 A | =@ =Eqi nE—=—2(=2
= A KEF =S ; o | e e E | E
- i 2L
= MFEHE
TH288  $3ma s Rk IRk 14:19 ~ 16:07
tlef8[4f[s5]6]7], [8][9]w0]n]2]s ES ES
» ‘ wrEE-5T (RS
| 1t 1K
2z 1037 |1« 5 12 /
* 8T *=25T *AEIT *EH
=i w2 | B =2 | B0 g e —2—g[=
=T SE =yl =i S JAR | ERE| M | 1A
INT JUR




S£728] EE

REERZFRMEAREAR= [2HEH]

7H288 FiERE| 2mEk [(RERRELS] 9:00 ~ 11:01
i 2134|5167 . 819 10| 11|12 |5t ¥F EES
& ’f\ b i
# B3| 1[1]3]1]0]1)3 10 s
| = —=
ﬁ pa— —_—=
# molil2lololol? h i
* 8247 * =247 K ANEFT * =T
=] FH 4[] FHE =] F1HE RE—2—2|=8
by == U 5 &R k0O = SEEE| LT EE
LT ElgsE ER
TH288 ZFE2: S| 2@E [{FERRES] 11:34 ~ 13:05
i 2134|5167 819 10| 11|12 |5t BF HF
; Sl &
@ mol3|5/1]0 » :
; KEFTEICLD d 5ot
6Ea— /LK f FiE
gzx 0l0]0lo0]o0 y 0 s
HR=
* — 8247 * =547 K ANEFT *EFf
R4 BEER 41 EBER | #l EER BRE—2(-—8(=
= N HEH AN E[| S+ |&E8|F1L
" 72U
= BY
7TH288  FE3AE | L R (FEREkE] 13:47 ~ 15:35
1121345617 . 89|10 11|12 |5t RF ES
kO it
# =ololololol1]1]2 4 7 R
%%
| - =
=H Fx
g
@ mlolololololo]o 0 o
w237 K* =547 K ANEFT *EF
Y] 1 4[] 41l £R 41 BRE—2(-2(=
5 72 =& zn
JE NG L AL BlEW|AE|LA




S£728] EE

REERZFRMEAREARR [2HH]

7TH288 FHiEAE| 2@ =) 8:53 ~ 10:52
tlefaf[4fs]6]7], [8]o]to][][s e ES
. 1 1T EH
A k1101012101010 - 3 = ok
| 7Bk fms
K B4T K= 24T K AEHT * L
K = EE | K = mel K g-EE |[wz-z(-===
72 Eok BT | 18|
- L ?1‘33 2L B | =4 | AT | FBIE
AH:E
A28  $oa| cE; (44 2 ERIS) 11:22 ~ 12:56
tlefaf[4fs]6]7], [8]o[to]][][s BRE ES
a0 A
F Zlololololo|O|O|Z 0
L
| — v
ZTH =)
Mo & 0|0l0[0]1]2]X]|>2 3
* T 24T * =247 K AEHT KL
= INE X g | xz INTE mE|—2)—=(=
HEe EF‘:%'% A0 Al mEE| =W | ELT|Ee
TH288  H3ata g Oty 13:38 ~ 15:43
tlefsfafs|e[7], [8]ot0]H]]s e ES
4 E:3 =5
| R
S & 1131010111010 - 5 -
| 0N | AmE
z-2£ 0| 0[2|0(0|1[0]>~ 3 e | T
JH”'I-E"E'IZITE
* 24T K= 24T K AT * L
INE E—EE | /v . Y Fg-EE |mEl-z[-==
ZEX2 ABA ANV A<t .y EN|)IIL || 5T
5N

G-




"’*72@ EE%%, SRS

NYAN
J[Ry

HBEA= [&i%AH]

1A298  HiEA (SEF]— RBRS) 8:54 ~ 10:46
1 ]2 6 | 7], [8 ]9 t0]1[f]s BF e
% =5
S & 0|0 0(0]7 0 ?
L =z
|
= ] JAAR
=zt 0] 0 0(0]~ 1x 3
* £ *x=£ K AT F
INFE INE =a IV =ay meE—al-—al=a
AU AN R H Al EfE|wrm|n | nes
1B298  Eostal [BE5thih R EkiS) 8:58 ~ 10:49
1 ]2 6 7], 9 [10] 11 ]12]zt BRE e
= 1z Vil
% = 0|0 010 - 0 o
| S5 FIE
= [/ 4
Z Z 0|0 0|X 3 e
-8 =£ K ANERFT * 25 F]
2R 4] D 4] EF HREl—2|—82|=2
L L = L NEO| KR | 24T | L
TE298  E3RA (] — 2 ERES) 12:08 ~ 13:37
112 6 7], 9 [10] 11 ]12]zt BRE e
. 1tmE v
=zt 0] 0 1102 1
L
| 2 FIE
z 700 00|~ 0 =
*—£2 *== *AEAT F
=235 = E | B2 EE HRE—2|—2|=2
IR wEa| )| 75| ES| )15
7L

SH 3 FE ERSERRZERKS

E B
“}E{E%
A—A——{_L
/rh-—{_L

JIFE tRARE
IR X
KE mRitE
FEIHE mxits

£ 72 ERSEFFRFNAS

R BIER

FER [ 2 HBOWHSE EE]
RER [ 15 BEOHE]
RER [ 8 BREOLE]
RER [ 14 EROHE]

Y — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —

B b Ol

=
BRESEARLLTINK=(OF & BEE) ICHET 2.



